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PART -
el 14x1=14

I Choosethe correct answer:

P={Xx|Xez -1<xc
3 ;—?ii:l;tieton iet l b) Power set L ac) Null set d) Subse.t
2) If AuB=ANB then
a) AzB b)A=8 ¢)AcB C)BcA
3) For any three sets A, B, C (A-B) /) (B-C) Is equal to e
a) ¢ b) C only ¢) B only d) A only

4) Which of the following is true?
a)A-B=AnB b)A-B=B-A
¢) (AUB)' =A'WB' d) (AnB) = A'UB'

5) Which one of the following is an Irrational number ..........

- 9 ' 7
a) J15 b) J; c) 1 | d)
S 6) 0.3+03 =i

a) 0.687 b) 0.68 c) 0.68 d) 0.687
7) J’:—?‘ + Ji_‘ ER LRI ) ] . ,

a) 53 b) sj6 . <) 39 d) 3,5

-3 -3/
8) (0.000729) 74 x(0.09) 4 =...covveo :
10° 10° 10° 10°

a) 73 b) = 95 d) 32

9) 2x + 3 = 0 is the root of the polynomial equation
S 2 1 -l

a)—z- b)3 c)3 . \'_d)3
10) IfP(a) = 0 then (x - @) iS5 @ .cerenes of P(x) :

a)Remainder -~ b) factor 7 c) quotient d) Divisor
11) Find the value of m from the equation 2x + 3y = m. Ifthe solutionisx =2andy =-2.

a) 10 b)0 " c) -2 o 7 d) 2
12) The exterior angle of a triangle is equal to the sum of two

a) Interrior opposite angles. b) Alternative angles

c) Exterior angles .d) Interior angles
13) If x® + 40 is divisible by x + 1, then the remainder is

a) 39 b) 40 c) -40 d) 41

14) For any set A
AUA=A&ANA=A

a) Idempotent Laws b) Identity Law
_ c) De Morgan's Law - d) Symmetric Law
, PART - 11
II. Answer any 10 questions: (Q-No. 28 is compulsory) : 10x2=20

15) ;ind Ehegumber of ?}Ubsets and the number of proper subsets of a set
=448, D0, C X Y, F4 : ;
i;’ :f {5,6,7)Y={5,7,9, 10}, Find the symmetric difference between the sets.
17) A={b, e, f, g} and B ={c, &, g, h}, then verify the commutative property of
union of setg . ) -
18) Ifn(A) = 25, n(B) = 40 n(A UB) = 50 and n (B") = 25find R(A~B) and n(V)
2

19) Find any two rational number pe 1. .2
" e ) er between 5 and T . wl
0) Express the follt;\_fvmg dec:ima| expression into.rational numbers 0.24
- 21). Giveany two rational numberSlying hetween 0.5151151115 ... and 0.5353353335...



vl
22) Multiply Y0 and 316 ‘ s
23) Find the roots of the polynoTlal equation 5x -3 =0
24) Factorise : 8x? + 27y3 +642° -72 X\f‘q)
25) The base of the parallelogram IS (5x

Find its height, If the area is 25x7 -16. a0
26) Evaluate 107-15% + 57, ’
27) In the figure AB is parallel to CD, find x. T N
28) Find G.C.D (y3 + 1) and (y*-1)- %.,p
PART - III " B
I Answer any 10 questions: (Q.No- 42 is cOmMpulsory) 10x5=50

29) Verify (A UB)' = A'"B' Using Venn diagrams,

30) In a group of 100 students, 85 students speak Tamil, 40 students speak
English, 20 students speak French, 32 speak Tamil and English, 13 speaks
English and French and 10 speak Tamil and French. In each student knows
atleast any one of these languades then find the number of students wha
speak all these three languages: .

31) IfA={0, 2, 4, 6, 8} B={x:xis@8Primé numberand x<11} andc={x : xe N
and 5 < x <9} then verify AU(BNC)= (AuUB)n(AuUC)

32) IfA={x:x=6nneWandn<6}B={X:x=2nneNand 2 <n<9}and C=
{x:x=3nneNand 4 <n<10}thenshowthat A-(B~C)=(A-B)u({A-C)

33) Convert the decimal numbers in the form of = (p,qe zand q#0) 563

34) Represent 3 35 on the number lin€ upto 4 decimal places.

35) Arrange in ascending order: %/5, %,%@ '

36) Simplify: (7@ - 5vb)(7va + 5vb)

1Y 3
37) If [Y—;] =27 then find the value of ¥~ — .

38) Find quotient and the remainder when f(x) is divided by g(x)
i) f(x)=(8x3-6x2+ 15x-7)g(x) =2x + 1.

39) Is (3x -2) a factor of 3x3 +x% -20x+127? .

40) Ifthe quotient on dividing x*+10x3+35x?+50X+29 by (x+4) is x3-ax2+bx+6,
then find the value of a,b and also remainder. ‘

41) Find all the three angles of the AABC
' A S

~—

v

: D
42) Expand: (x -12) (x + 7) (x - 18) -
" PART -1y *
IV. Answer both questions: ' 2x8=16
43) a)Draw the AABC where AB = 6cm |B = 110° and AC = 9cm and construct the centroid.
{OR)

b) Draw an equilateral triangle of sideg g.5cm and locate its Orthocentre.
44) a) LetU=1{0, 1,2, 3,4,5,6,7} A={1, 3,57} and B= {0, 2, 3, 5, 7} find the
following sets i) A' i) B' iii) o', g Wiaing' VF(BRB)" W (AAR)
vil) (A)' viii) (B | |
N (OR
~ b) Factorise the following: :

') X2 + 10x+ 24 7 iij a2 + 10a -600
iii) 2a?+9a3 + 10 iv) 5% - 29xy ~42y?
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